§ Mol PROFESSIONAL EXAMINATION BOARD
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26th Feb 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) 1f a child has mental age of 12 years and chronological age of 10 years then his IQ will be .1 afe 75 9= &t Al Mg 12 a¥ %

3R BTaTIHiH® g 10 a¢ § df ITPT ATy (A il

1. 80

2.120
3.125
4. 100

Correct Answer :-

. 120

2) Gray matter of the brain that controls IQ and memory have greater volume in learners who ./ ﬂ'@ MR wﬁf & e &4 arer
Hi&Tss &1 9 A, fRrenfiay # arftre W & gaT 81

1. get sufficient sleep/ i Hlg o ara

2. take healthy diet/ TRJ 3TER T aTd

3. avoid stress/ TG 4 S aTdt

4. exercise regularly/ frafta U Qo™ s34 9

Correct Answer :-

« exercise regularly/ A ©0 ¥ W #34 arad

3) The is one who is more open, accommodating, venturesome, outgoing and pretty confident. / dg % St eiftre T, ﬁﬁFRTR',

IHRIE, TS SR BB} STAfAYT arer g1
1. Introvert / Gﬁﬁﬁﬁ

2. Intro-extrovert / SfTHE- STHE

3. Extrovert / STeq@!

4. Ambivert /3"-@1’@

Correct Answer :-

« Extrovert / a%ﬂ@

4) oObsessive-compulsive disorder (OCD) can be successfully treated using: / ﬁ'_fﬁ-mmm faeR (Sﬁ?ﬁﬁ) Gl WE&EF ERI) e
STINT RS a1 o1 Thal &:

1. Cognitive behavioral theory/ IS ZasR Rigid
2. Massage therapy/ HITS Rt

3. Antidepressant medication/ Qﬁ%ﬁ@? adl

4. Systematic family therapy/ JUITERTd IRaR aRdt
Correct Answer :-

« Cognitive behavioral theory/ IMTE® qdER RIGid

5) Which is the SECOND step in the problem solving method? / THIIT JHTUTH fafrd QHRT TROT Cack:l giar %?
1. Formulation of hypothesis / uRepeura3t &1 fAegur



2. Testing hypothesis / GR& T3] BT TRI&0T
3. Recognition and definition of problem / JHXT &1 SR 3R it
4. Conclusion / fswt

Correct Answer :-

« Formulation of hypothesis / uReeuraft o1 fegur

6) What part of our memory stores events that happened in our lives? | ERY '\‘Hﬁl Cakack:| e E'Hﬁ' Sita= o ufed ge-msi &1 HsR
?

1. Episodic memory /m Vjﬁf

2. Procedural memory / UfshaTEH® Fﬂﬁ
3. Semantic memory / W‘ﬁ@jﬁ

4. Declarative memory / ITSUITEHD Fﬂﬁ[

Correct Answer :-

« Episodic memory / ATl Wﬁ

7) What is the first stage in moral development according to Kohlberg? /

Figa & IR Afaw e & vgar R w1 R?
1. Preconventional morality / @—Wﬂ Afdemar

2. Periconventional morality / U8 RERTTd Afaddr

3. Conventional morality / UXFRTd Afcrepar

4. Postconventional morality / URd-URERTTd fdar

Correct Answer :-

« Preconventional morality / tpf-lwcm?m Afdemar

8) What is the term Freud used to describe his theory of the structure of the mind? /s A feg qq a1 SUANT 79 B 9T B 30 ﬁl@'ﬁl
1 quiq B3 & fore fopam?

1. Consciousness / EGEI
2. Iceberg / ATSTEH
3. Libido / farfargt

4, Landscape / dswhy

Correct Answer :-

o Iceberg/ Gﬂgﬂ@f

9) What social motive is characterized by a need to control and influence others? /

BI-AT TS IR, gERI B (a0 $A SR I TUITId $A B Smaader g1 afvfa g2
1. Power / Qifa

2. Achievement / JUT

3. Affiliation / ¢

4. Purpose / BQQQ

Correct Answer :-

« Power / SIfad

10) Parents who believe in punishing the child show ./ 3 AraT-foer St 9= &Y Eﬁ‘ﬁl’ B A ﬁm B %', EQT&'“ %I

1. Uninvolved Parenting / 3/ &g (HIGIHD &Y G| ST g3l TRaR=l
2. Permissive Parenting / W RARST



3. Authoritative Parenting / SMYHTRS WRaR=r
4. Authoritarian Parenting / SIBRATC! IRART

Correct Answer :-

« Authoritarian Parenting / SHIYBRATE TR

11) At what age does the child start to show an understanding of the language? / Il fora U yrar #t GEE e DY ar %‘?
1. At birth / ST I &

2. At three months / A= Wgﬁ 1°03

3. At six months / &: Ilﬁ%ftﬁ

4. At nine months / 7?[ Ilﬁ R

Correct Answer :-

o At six months / 9: Ilﬁm

12) Which is not the principle of inclusive education? /#—Wm ﬁT&ﬂ Ca) ﬁl@'ﬁfqﬁ%”
1. No discrimination between learners /IR &‘ﬂﬁﬁ:ﬁ i) ﬁ% ﬂ'c:“—na :l_Eﬁ

2. Separate classroom for special children /ORI &l & forg ST Feaf

3. Equal educational opportunities /SHI A e

4. Catering needs of the all children /& 1t Sl BT WU Haieh SRexdl T & T

Correct Answer :-

« Separate classroom for special children /ORI = & foTQ SrerT weaf

13) Which of the following is not a factor that will protect a child against stress? /

fFafifEd & @ 919 91 U 98 SRS 78 8 Wl a9 & 3vx Uh a2 B 381 HEM?
1. Family / URaR

2. Intelligence / §@

3. Authoritarian parenting style / 3GRATE! TRARRT Qi

4. Peer relationships / TEHHT R

Correct Answer :-

« Authoritarian parenting style / MfYHRATE! TRAfeeT Rt

14) A 12 year old child understands that the weight of a table remains the same whether it is right side up or upside down. What concept has

he gras%)ed?/w12mmmﬁmﬂ%%wﬁammaﬁm%ﬂﬁﬁﬁ{sﬁ?ﬁmmﬁl I frv Rigia &t
A 82

1. Conservation / T&UT

2. Inductive reasoning / A THATHD L2
3. Object permanence / G R

4. Hypothetical reasoning / IRefed da

Correct Answer :-

« Conservation / TR&UT

15) According to Psychosexual Developmental Theory, fixation to which of the following stages results in dependency? / TR e Rigia®

SR, Frafafad sawmsi & @ fae Fufr (freizm) & FRar ¥ gur gar g2

1. Anal / T&T (G7a0)
2. Oral / A (31Ra)

3. Latency / YUl (a%@)



4, Phallic / @7 (Bferap)

Correct Answer :-

« Oral / I (3Ra)

16) Growth always corresponds to the age of the child. This is because of the principle of ./ e Eﬁ'ﬂ'ﬂaﬁaﬂ IgA AT @'IT‘lT%I g ¥

fisid & SRUI gl 21

1. Continuity / fRawar

2. Uniform Pattern /Waf:f

3. Integration / QWUT

4, Individual Differences / 31113\%@ forerar

Correct Answer :-

o Uniform Pattern /Qwaa:f

17) Which of these is the best way to improve problem solving skills in primary school children? / Ty ey & a=af § o R s o
FUR B BT TGY 3T TRIPT 3T 82

1. Solving mathematical problems. / IO gEETST BT JHTU HRAT|
2. Find solutions to problems that they face in their daily life. / 3 TEET3T BT GHTUT @I, oM 9 3o e it & I AR %I
3. Talk about their problems to peers in the class and the teacher. / It qEEell & IR H He & qgure! 3R fRrere | 19 BT

4. Apply steps of design thinking process and engage with community around. / Hre &Y Tifehar & TR H TR0l dI NIVESSI 3R TR %w & AT
DT

Correct Answer :-

« Apply steps of design thinking process and engage with community around. /A B! UfohaT & Wk | TRl B NINESSI 3R TR %W & AT

18) believed that personality develops through a series of stages and the effects of childhood are long lasting. / T HET AT

feT, TN 31 TP ST S A1 & ReRia g § ok 99U $ THTE o ¥Ha 9% 8d 8
1. Albert Bandura / 3GSC SgRT

2. Jean Piaget / ST OISl

3. Sigmund Freud / RATHE 1S

4. Lev Vygotsky / INCEIEUIRSE

Correct Answer :-

o Sigmund Freud / s wros

19) The term normative development indicates: / lGERucicd ﬁmmﬁhﬁm%
1. Rate / @

2. Extent / ST

3. Direction / f&=T

4. Distinctive qualities / fafdry qor

Correct Answer :-
« Distinctive qualities / fafke ot

20) When environmental influences coupled with cognitive factors are responsible for learning, such a learning is known as:/ Sd qgfaveiig YHId,

TFATHS FRS] &A1Y e AR & g TR g €, 91 39 ave & oftnm &) f =0 o s S @:
1. Operant conditioning / 3R Her=IfT

2. Trial and error learning / &1 3R A ity

3. Social learning / FTHTRT® ST

4. Classical conditioning / ARG DRI



Correct Answer :-

« Social learning / FTHTNI® S1EATH

21) As a future teacher, you will need to and connect with roomful of diverse students. / TP 'J-I'mﬁ'l'&‘lﬁ ® '\’?q"l}l', 3T
B arazaddr gift ok fafira s &Y wen & Wy e gk
1. Deal / il

2. Connect / @E,el

3. Understand / JHIA
4. Collaborate /W

Correct Answer :-

« Understand / JHA

22) Which of the following is not an example of critical thinking skills? /mﬁﬁﬁ-ﬁmﬁﬂmm@mﬁ%’
1. Improvising /a—cﬂaéwm

2. Classifying /?Fﬁ@_dm

3. Tracking /CI&ITTIRTT

4. Describing /ATGATHD

Correct Answer :-

« Improvising /a—cmaéwm

23) When children recognize that each individual is aware of other people’s thoughts and feelings, then it is called:/STd T qg tlﬂilﬂ?f

& % e aafes gav @il & fRERt ok Hramma & oravTa 8, oY 9 et Tl 8:
1. social information role taking, STHIRSTd 2T YftenT o1

2. social and conventional system role taking/ TSI 3R TRUS TOMGH @ Yf¥HehT A

3. self-reflection/ 3T Uffds (Aew-Rudawr )

4. mutual role taking/ 3TOT HfEehT AT

Correct Answer :-

« self-reflection/ 3TH ufafds (ﬁw-ﬁﬁaﬂq)

24) Why do we have culture-fair tests for intelligence?/ 'E:"Fl'ﬁ LIS ) m & ﬁl"'{ '\‘i@ﬁ-ﬁw&f "-'Iﬂ&‘I'UT 2] %?

1. Intelligence tests should free of differences in language and education./ g@ﬂﬂ’f TRIE0T , HIST AR e & iR ¥ Had Eﬁ%f ElT%Efl
2. Cultural understanding is a part of intelligence./ Wﬁlﬁ Y Ej@ F1 TS fgwn |

3. Intelligence is culture-dependant./ §@ mﬁﬂ IR B

4. Intelligence can evolve/ m P fapfa foran o gepan % |

Correct Answer :-

« Intelligence tests should free of differences in language and education./ m Uﬂ&‘WT, HTYT GhT e IR Had Eﬁﬁ ?IT%'QI

25) Which of the following determines the impact of failure in school performance? / Frafafaa & @ s9-a1 faeaay uzqh ¥ BT BT
wuTa Fruifya svar g2

1. Time allotted is more than what is actually required to finish the task / 3Tded THT I B I 31 § S arad H BT [R1 B P oW Sfa<ges
|

2. The pattern and setting of task / B BT Yo 3R gawT

3. The Challenge - what the children asked to do—which is not engaging or relevant. / E\['_‘ﬁ?ﬁ - = ¥ S B P T eT T - 3B T IS
T

4. Level of easiness in the task / BT & FIHT DT ¥R

Correct Answer :-



« The Challenge - what the children asked to do—which is not engaging or relevant. / ﬂ:ﬁ?ﬁ - el W S B & [T 8T T - Sy a1 Ui
TR

26) A learner is an intuitive learner if / af¢ Tdh ﬁT&ﬂtﬁW BIGK!CH) % @ dg a1 EaTIT?

1. They notice the big picture, see how everything connects. / G| atc'?r TER ¢@d %, 3R I PS8 \_rﬁ_é'»ef P UfchaT BT gad %I

2. They pay attention to concrete facts and details. / q H\?fa@ﬁ IR faaRon R e & %I

3. They focus on the reality of how things are. /3 IS it %, P! IRAIHAT R D S ] 1

4. They like to describe things in a specific, literal way. / dg ISkl ﬁﬁT& QeGRT: ¢ Y ST B! DI B %I

Correct Answer :-

« They notice the big picture, see how everything connects. / G| atc'?r TER ¢@d %, 3R I PS8 S S &1 UichaT BT Gad %I

27) Which famous professor proposed that children move from a position of egocentrism to sociocentrism because of social interactions? /

fra ultrg MreR A ufawfea frar for a= wmanfire el & R, srarsfa fRufa & gae=md @ ok 9gd 82
1. John Dewey / ST §%

2. Lev Vygotsky / & drgiiicen!

3. Jean Piaget / S foramst

4, Howard Gardner /GTa &R

Correct Answer :-

e Jean Piaget/\_rﬁ:[m@
28) CANCELLED

Which of the following is an incorrect advantage of problem solving method of teaching?/ frafafeaa # q P- ﬁT&fUT BT THT B B
w31 faftr &1 Tea @y @2

1. All disciplines cannot use this method to solve a problem / uft ﬁ@l’sﬁ‘[ d qgﬁ BT SUIANT G- B B'd BB fere :Tfﬁ B gbhd %I
2. Learners participate actively in the process /wmﬂ&r&nﬁ(a&) RIEIESI] mﬁ%%

3. It makes the learner interested in the learning process/ugﬁ'f&‘mﬁ(ﬂ:h) Pl &Wﬁmﬁwm%l

4, Evaluation of learning using this method is eaSy/wm?ﬂmﬂm@fmmw Wfﬁ\_yﬂ(ﬂél

Correct Answer :-

« Evaluation of learning using this method is easy / wu@%wwﬁmaﬂﬁ@r WWW GWI:TE?TGI'IT‘IT%I

29) CANCELLED

The diagnosis for children having problem in word findingis ./ T § Weg WA &) 991 &1 fReH - g %I
1. Dyslexia / fewafemar

2. Dyscalculia / m

3. Dysnomia / et

4, Dystopia / fewiftan

Correct Answer :-

« Dysnomia / &t
30) CANCELLED

Who described a phenomenon called horizontal decalage? / afosr éﬂ)_cf\ﬁ'l'g ATHS e $1 gui fram frar
1. Erikson / 3&‘&4?

2. Piaget / s

3. Freud / hIIS

4. Vygotsky / ATgTIca]



Correct Answer :-

o Piaget/ foars

Topic:- General Hindi (L1GH)

1) 3o frar 3it, 38 fam 3,
e iR sme &

R PR AT S
IR T e &
STHHT R T &@ dt
TRITA, W@ A

T 7§ ¥ IHS-YHS IR

BT dTgd dS g a
Ayl & WA B

Y AT Y §

Tg W AR 3T

WY AR, Mad Rars

N R, srpa R

frg, el @ waws org

R 3 A wrEg, 9,

R IMTE

ITT Ui B UgHR ) IR WM 9T YR P Sci¥ IaTg|
TR HIRIT T TR T 32
1. THTIR 3R TR I

2. THIAB TEI

3. $IA R

4, $ad GAER

Correct Answer :-

. THMER 3R GeR GHI

2) I3 fPam 3, S foram o,
e iR sme §

R R- W AT S
TR T e g
STHAT W T @ df
TRITA, W@ A

T R § IAS-YHS IR

FTa FTGd dfe g a
Ay & WA B

Y AT A §

Tg TR AP 3T

WY 4R, M R®ars

N g, srpa

g, wel & T arg

7 & el wig, 9,

R IMmE

ITa Ui B UgHT ) IR WM 9T U= P Sci¥ g5
TT: TR 1 afaarh Teg 741 e 82
LR



2. AT
3. R
4, f=mafa

Correct Answer :-

3) 3o foram 3f, 33 frar o,
e R sme &

R R- W AT S
IR T e &
STHAT R T ¢E d
TRITA, W@ A
T 7 ¥ IHS-YHS IR
BT FTGd d g a
Ay & WA B

Y AT A §

Tg UM AR TS

WY 4R, M R®ars
N Ry, srpa

fRrg, @l @ T org
7 & Wl uig, g,
R IMTE

ITad Ui B UgHY A IR M 9T YR BT Sk IaTg|
W ed fPad Ay § ?
1. fPam &

2. foum & uRar

3. 9t

PRI CRE:D

Correct Answer :-

. fFam s

4) Io f@am 3, 33 forar 3,
a1ed R amg &

R - AT S
TR T e g
STHAT W T @ dt
TRIT A, W@ A

BT STgd dfe 3@ A

A yron F WA B

Y AT A §

Tg UM AR TS

W aYR, Mad Rarg

N g, srpa

forg, Pl & T g

5y & W wgH, 9,
R E

ST Ui B UgHT ) IR WM 9T U= BT Sk g5



WR: VORATS BT o T gt 82
1. UEAH BT 3R I arell g1
2. RO BT 3R T arelt gar
3. Q4 BT 3R J I arelt gt
4, FR B 3R I Tl gal

Correct Answer :-

. Qd BT 3R Y Ie aren gar

5) I3 fPam 3, 35 foram e,
area R 3§

RPN AT S
R A T
STRTA WR T 3 Y
TRIG A, SWI@ A

AT IR IHS-YAS B

P STga aS 3@ A

A wToR & WA B
AT A §

TE HI AP 3§

T AR, e qRarg

N R, aFa R

fRrg, Fal & TaPw oré

R 3 R wrg,

R oM

ITT Ui B UgHR T IR WH 9T U= P Sk IaTgu|
W: "=fiad qRaTs’ A SR § ?
1. T Ear

2.9

3. 38 ga

4. g gar

Correct Answer :-

6) I3 fpam 3, 3o forar o,
area R 3§

R PR AT S
|t 3 ame &
STTAM WX T 3@ <Y
TRIT A, IWI@ A
AT 77 SHS-YAS B
HTAl TG0 i @ df
Ay F WA B
YA A §

TE HIT AP 31§

T AR, e qRarg
R g, spa R

forg, wel & Tawe g
R 3 R wrg, 6,



Rw Mg

ITT Ui B UgHR ) IR WM 9T YR BT Si¥ IaTg|
URA: "UIg’ 1 ordf T 82

1. §TH A BIg Tl

2. %ad HgAH

3. Haq 3ffafy

4. TETM 3R Ay g

Correct Answer :-

. TR 3R Al g

7) 3o foram 3f, 33 far o,
e iR sme &
NN W AT F
IR T e &
STHHT R T ¢E d
TRITA, W@ A
T T SHS-YAS B

BT TTgd de g a

AR Tmon F WA B

Y AT A §

Tg WM AR TS

Y AR, WA 1A

N Ry, srpa

fRrg, @l @ T org

7 & Wl uig, g,

R IMTE

Iad Ui B UgH? ) IR WM 9T YR BT Sci¥ IaTg|
WRA: AT 3T | <Teg T 82
LT

2.3

3. faam

4. Il

Correct Answer :-

8) 3o fram 3it, I3 e i,
a1ed R amg &

N R-W AT &
TR T e g
STHAT W T @ d
TRIG A, W@ A
BT STgd dfe 3@ a
o wTon # R B

Y I A §

Tg UM AR TS
W OYR, Mad Rarg
N g, srpa R



g, wel & T arg

o 3 et wig, 1,

R I E

ITa Ui B UgH? ) IR WM 9T U= BT Sk gaTge|
IR dled $Y T W@ 2

1. JH-H

2. 3HS-YAS

3. -9

4, SH-SH

Correct Answer :-

9) I frar 3, 33 foram o,
arqa fiR ame §

N R- WA F
TR A 3
STHHT W T @
TR IG A, W@ A
BTl dTge df1S g
A wTon & aRA Bt

Y AT M §

TE W AP 1§

T OYR, Mad Rarg
N R, s N

g, el & Taww aré
¥ 9 Tt wigH, 6,
Rwam g

I Ui B UgHR T IR WM 9T U= PT Sk IaTs|
W= afe &1 3 @ 82
1. feffa

2. drgTan

3.9gd

4, 3ffrmi=

Correct Answer :-

o RITT

10) 33 T 3it, o fHam sit,
area R 3§
RPN AT S
TR A I
STRTHM WR T 3 Y
TR IG A, WA A
BTl dTge dS g@
Ay A WA B

Y I M

TE HIT AP 31§



T OYR, Mad Rarg

A Ry, srpa RN

forg, et & g og

Y 9 Tt wigH, 6,

Rwam g

ITfe Ui B UgHR T IR WM 9T U= P Ik IaTs|
WEH: SIEd’ BT yaiaaTd Wes 82

1.%g

2. 79

3, fgmTera

4, SRy

Correct Answer :-

11) 3 fvam af, Io frar ait,
area R 3 §

R PR AT S

et 3 ame &

ST R TR 3
TRIT A, IWI@ A

AT 37 ¥ IHS-YAS B

FTd STed afe 3@
Ay A WA B

A I A §

Tg T ADY S

T AR, e qRarg

N g, spa R

fRrg, Fel & Ta@w oré

5 3 e ug, T,

Rw oM

ITT Ui B UgHR ) IR WM 9T YR P Si¥ IaTgu|
R TR ufea § {59 AgA &1 quiq 82
L ¥

2. PR

3. il

EASICE]

Correct Answer :-

12) 3 fvam 8i, So frar ait,
aree fR emg §

R PR AT S

|t 3 ame &
STTAM WX T 3@ Y
TRITA, W@ A
A7 T SHS-YAS B

HTAl S1G9 afe g df
Ay F WA B



I A §

TE HIT AP T

W AR, Maa R®arg

& R, srpa X

forg, @l @ T org

R & W uTg, T,

R IME

IUged TEiY B Uge] A IS W19 91 U BT Sk 9a1s¢l
U= IRaTS fhad e aae g 82
1. o

2.

3.}

4, fpam

Correct Answer :-

13) o fram 3, 33 fHam af,
91ed R amg
VR-WN AT &
TR T e &
STHAT W T @ dt
TRITA, W@ A
BT STgd dfe 3@ a
o wIon # WA B

Y AT A §

Tg WM AR 3T
WY UR, M R®ars
N g, srpa

R, wel & T arg
fre & wedeht wreH, 1,
R IME

ITa Ui B UgHT ) IR WM 9T U= P Sci¥ g5
TE: qRaTs St et 82
1. iad

2. 5T A B TN

3. & g

4.7

Correct Answer :-

14) 33 fFaM 3f, 3o fram s,
a1ed R emg &

R R- W AT &

et A oy F
STHAT W T @ dt
SRIEA, W@



BT dTge a1 3@
Ay & WA B

Y AT M §

Tg TR AP TS
Y AR, A [RaTS
N o, spa N

g, el A Taws g
7 & R wig, 9,
R E

STa T B UgH? R IR WM 9T U= BT Si¥ 95|
U=H: died -

1. Jad gl

2. foRa Rl

3. G

4. 4P BI

Correct Answer :-
. A g

15) afraATg ¥ Tire eieR Uiy 4 A SIRY & IR AT a6 7 S 81 9iTd % ugd 3T @Rt it &1 alieR T ¥ 1 ¥ W #) 9TE o ol 1 59
TgiaRur =3 g oiraT 81 Wit ¥ o o & = et 3R 9Tl T} @Rt 7T §1 e F 37 TR- 1T B Sl F Foid §1 eT- 2] 3aft @ e Bue
Tga €1 3 &1 99 7 a1 ghar 21 ST | 3ifidY sremey ¢ ad= A WiTer UhTar SIrat 81 6 | gedt $1 viur 9ty faan e 31 13 & 7 ® Th wud o aad
HTT ATT 8| 9 A19d STAPR SR IS4 ¢ ol SUH g8 ST & & 1 g F TIY IB-Tell g1 TS 9T & HUR A SHST & 3R IRY 3R R oifg & e ugar
%lwwaﬁaﬁvgﬁﬁﬂ@ﬁmm%aﬁﬁﬁmﬁﬁaﬁ%‘mml'ﬁmaﬁ?ﬁ%ﬁaq&aﬁ?a@ﬁmmmmmmél

I TR BT UGB - YD T U FT IR Iars |
W TeT-e) Fft @ wa uga @2

1. QA HYS TTd &1

2. e HUS Ued g

3. IRA UG 8 |

4, T HYS UgTA 5|

Correct Answer :-

. TUHUL UgTd T

16) fEATg W Ui eR WY A § SRY & IR 3 9% W= SI1ar 81 Tird & ugd foT @nn il o1 digR 79 § 1 R R 3 9wTs B 9T @1 59
JafaRr W93 g AT 8 1 Wi & 37 I %) 9= o ofR TSl SeTee GiRMAT 71 § 1 U & A TR-3HTTH 31 Tiiel § Weiid 1 TeT-4eR 9t @i e s
Ugd €1 39 &1 99 78 a1 ghar 81 ST | 3ifidY semes ¢ ad= & WiTTer UhTan Sirat 81 6 | gedl $1 qier |ty faan e 31 73 & 79 ® T wud o aad
UHTT ATT 8| 9 A19d STAPR SR 33471 ¢ dl SqH g ST & & 1 Y & HIY IB-Tell g1 TN g1 & HUR A SHST © 3R IRY 3R R oifg & e ugar
B 39 90y IR SR g3 A @Mt | A9 Iod § SR T | frewma §- oirer wimenr’ 3% wRrwan gt 7 5 g ok o A vivra 1 i ®ieR w5 forn 21

I TR BT UGB - YD T YA $T IR IaTs |
W: UiTet o oA & wema wiar 82

1.9

2. Fifcta

3. I

4.9

Correct Answer :-

17) aftreTg ® T igR WY A § SR & IR 3T a9 WA wirar 81 1T & ugd foT @nn it o1 digR w9 § 1 R R 3 9wTE B 9 @1 599
TaieRur Taws g1 W 8 1 Wi & R 9 @) 9= St 3R ATt ST} @R T €1 i ¥ o -3 @Y Wikl | Feird €1 eT-tie) @it @i e Bud
Ted €1 39 o1 99 ©© a1 ghar 81 ST ® 3fidY Sames ¢ ad= o WiTTe UhTaT WraT 8 | 96 § gedl ST ey 9ty fan @ §1 73 & w9 § T wud &1 9|
UHTT STT 8| 99 A0 STAPR SR 3341 ¢ dl IqH g8 ST & & 1 g P TIY IB-TdT §3HT TS g1 b SR A SHST § 3R IRY 3R R oifg # euw ugar
B 39 Img TR SR g A RN | AT Iod § SR Ty A fRrewmd §- oirer wirear 3% wRrwan gt § 5 g ok iy A uivrar 1 i ®ieR w5 forn 21

IUY TR B UgHR 1 IR T U= HT Ik I



W UiTa s usTan S 82
L9 H

2. 3T H

3.0

4. g d

Correct Answer :-
. offidtd

18) afreTg W Ui eR Ny A § 3Ry & IR 3 a9 T=man Wi1ar 81 i & ugd fa @nn il &1 &g 791 1 R R 3 9wTs B 9 1 59
TgiaRur T3 g oiraT 81 Wil & o I @ = et 3R 9T T} Gt 7T €1 1ie % 3 TR- 1T B Tkl @ Foird §1 TeT- 2] 9aft @R e Bue
Ted €1 39 &1 99 78 a1 ghar 81 ST & 3ifidY sremes ¢ o= o WiTTer Ut Wrat 81 o ® gedl &1 dier |ty faun e 31 73 & w9 ® T wud o 9|
UHTT STT 8| 9 A6 STAPR SR 33471 ¢ dl SqH g¢f ST &d & 1 g P HIY IB-TelT §HT TS g1 & HUR o SHST © 3R IRY 3R Rqep oifg & euw ugar
B 39 90y IR SR 3oy A GRMt | AT Iod § SR T | fRrewmd §- oirer wimer’ 3% wRrwan gt § 5 g ok i A vivra a1 i ®ieR w5 forn 21

IU TN B UGHR A TR Y YA BT I« TS
W AT a?

1. AW 3R B

2. e SR e

3. TR 3R oA

4. HIoH 3R g

Correct Answer :-

. TIER 3R o

19) AfreATg ® Ui eR WY A § 3Ry & IR 3 9 W= Si1ar 81 1T & ugd faT @nn it o1 digR w9 § 1 R R 3 9wTE $ 9 @1 59
TafaRur W93 g ST 8 1 Wi & 3 I %) 9= St ofR TSl Sele} GRMAT 71 & 1 U & 7 IR-3HTTH 3 Fiiel § 9eiid 81 TeT-41eR 9t @ A s
Ted €1 39 &1 99 o8 a1 ghar 81 ST & 3fidY semeR ¢ ad= o WiTTe UhTaT Srat 8 1 o ® gedl &1 dier |ty fan e ¥ 73 & 79 ® T wud & 9|
UHTT ATT 8| 9 A0 STAPR SR 33471 ¢ dl IqH g¢f ST & & 1 g P TIY IB-Tll §3HT TS g1 & HUR | SHST § 3R IRY 3R Ry oifg & euw ugar
B 39 Iug IR SR gy A RNt | AT Iod § SR Ty | fRrewmd §- oire wirear 3% wRrwan gt § 5 g ok iy A vivra w1 i ®ieR w5 forn 21

I TR BT UGB - ID T U FT Ii¥ garg|
w=: Y 1 vafgarh W A 2

1. 3

2. Uy

3. U1ah

4. 3T

Correct Answer :-

20) dftrEATg B TiTd @R N9 A § 3Ry & IR Y 9 7= wirer 81 viva $ ugd foT @ uinft o1 g w9 1 R R 3 9wTE B o 81 599
uTaRoT s gl Wl 81 Wi & R < @) a= e 3R e aee) GRET A9 €1 Uhre & 3 R-3iTTE Bt Siiel | I §1 eT-e? Wit | e $us
Ted €1 39 o1 99 79 a1 ghat 81 T ® 3fidY SameR ¢ ad=T § WITTe UehTaT SITaT § | 9o § gedl ST uier 9ty foan wre ¥1 73 & 79 ® T wud &1 |
TGHTAT ST 8| V9 AT STAHR &R 36T & ol SHH gY STd 3d &1 gY P I IH-TdT g3 e e & U A SHSdl § SR IRY 3R R sife & s war
B 3 IOy IR SR 33 AT @R | AT Iod § SR TRy A fRrewnd &- uiire wirar 3% wRrwan gt ® 6 g ok iy A uivrar w1 i ®ieR w5 for 1

UG TR B UGB T Y Y U $T IR 3¢
W=: foFd wud &1 aaa WTd § U 8 WA 6T ST 82
1. FH A FE e

2. T e BT

3. R A BT

4, R 3R TS S Tl BT

Correct Answer :-

. T8 HIa BT

21) dftreTg A GTe dieR Uy 7 # 3R & IR fA d@ F9an Sirdt 2| Uie $ ugd fo @l HiRf 37 ek #91d €1 Q¥ ER B qeTs $Y ot 81 59
TafaRur W3 gt oiraT 81 Wit & o = & = @it 3R 9T S} @Rt 7A1d €1 e F 39 TR-311TH B Sl A Fod § 1 TeT-eie) qaft @i e s
Ted €1 39 o1 99 9O a1 ghar 81 3T # 3fidY STames ¢ ad=T § WiTTe UehTaT SIraT § | 9o 6 gedl ST Uiyt 9ty fan S ¥1 T3 F w9 § T Bud o1 9|



YHTT ST 8| 19 A9 STAPR W I3dT ¢ dl SUH g8 ST o &1 Y & FIY IH=TelT §aHT TS 9T & HUR A SHSAT 2 3R IRY 3R R oifg & e ugan
B 39 AT I1RY 3R 33 AT G A 9 354 § 3R o A Rieema 8- uiva wien 3= wrwan gl @ % g iR S A uia o1 Wi Wer o R 81

STYHT T B TGP A1 IS 7Y T $T IR T3¢
T: 4Rl & T w= | aRa 82

1L THIDE T

2. Had ST Iod B

3. $9d eld od g |

4, ST 3R IS S I § |

Correct Answer :-

. 2 3R T G o B

22) dftraArg # UiTe dieR 9Ny 9 # 3R $ gR A a% 7= orar 81 9 a & ugd 3T @l uily @1 JieR 79 ¥ 1 R R #) 96TE 31 Ot 11 59
JaiaRr W93 g et 81 Wi & 3 2 &) 9= St ofR aTe! SelTe? GRMAT 71 § 1 U & 17 R-3HTTH 31 Tiiel § 9eird § 1 TeT-4eR 9t @i e eus
Tga €1 3 &1 99 7o a1 ghar 21 Sife | 3ifidY wremes ¢ ad= A WiTer Ut Srat 81 < | gedl $1 vtur 9ty faan e 31 73 & w9 ® Th wud o aad
HTT STT 8| 9 A19d STAPR SR I3dT ¢ dl SUH g8 ST & & 1 Y F TIY IB-Tell g1 NI g1 & HUR A SHSAT @ 3R IRY 3R R oifg & e ugar
%lwmaﬁmmm@ﬁmm%aﬁﬁﬁmﬁﬁaﬁ% "G G S wRTwT gl @ 5 g 3R <y A vie o1 Wi Wier o R #1

ITYE TR B TR N D Y U BT S@R TATTI
E: AN g | i A S6d 82

1. A F G F BRI

2. G & oA BN F BRUT

3. g4 9 3 & 90FH & HRU

4. g4 a S1fh & G HT I WHR FRA & HROT

Correct Answer :-

« 4T 3 S G BT HITT PR HA &b BRI

23) dftraArg ® TiTd @R Ny AR § 3RY & IR 3T 9 w-man St 1 via & ugd foT ann uinft o1 gk 79 1 R R 5 9wTs S 9 @1 59
JaiaRr W93 g AT 81 Wi & 37 I &1 9= o ofR TS SelTeY GiRMAT 71 § 1 U & 17 TR 31 Tiiell § Weird § 1 TeT-4e 9t @ e s
Tga €1 39 &1 99 7o a1 ghar 81 ST | 3ifidY sremey ¢ ad= A WiTer UhTan Sirat 81 o | gedl $1 qier |ty faan e 31 73 & 79 ® T wud o aad
UHTT ATT 8| 99 I19d STAPR SR 33471 ¢ dl SqH g¢f ST & & 1 g & FIY IB-Tell g1 NI g1 & HUR | SHST © 3R IRY 3R R oifg & e ugar
%lwwaﬁmgﬁm@ﬁmm%aﬁ?mﬁﬁmﬁ% “oiTTe e 3 wadT gt @ o g 3R oif¥r 3 divrer &1 i WfieR w1 R}

ITYE TR B U A D Y U BT SR T
WR: g B T ST ST 82

1. T A IS TR

2. Fr 1 diey

3. tud &1 den

4. egl T U

Correct Answer :-

. gl BT

24) dftraTg ® iTd TR Ny AR § 3Ry & IR Y 9 9T wirar 81 via $ ugd fT ann uinft o1 gk w9 1 R R 3 9wTs B e @1 599
TaieRur Tws g1 e 8 1 Wil & 3 o @) 9= St 3R ATt seie) @R 7 €1 e ¥ o wR-3iH @Y Wikl | Feird €1 eT-tie) @it @i e Bud
Ted €1 39 &1 99 ©© 791 ghar 81 ST ® 3fidY SemeR ¢ ad= o WiTTe UhTaT WraT 8 1 a6 § gedl $1 gt 9ty foan @ ¥ 73 & 79 ® T wud & 9|
UHTT STT 8| 9 A0 STAPR SR 3341 ¢ dl IqH g8 ST &d & 1 g8 P TIY IB-Tdl §3HT TS g1 b SR | SHST § 3R IRY 3R R oifg & euw ugar
B 39 Iug TR SR gy A RNt | AT Iod § SR Ty A fRrewnd §- oirer wirer 3% wRrwan gt § 5 g ok i A vivrar w1 i "R w5 for 21

I TR BT UGB -9 ID T YA PT Ii¥ garsy |

U=: "R &1 I fasdeg @ g

1. GH-+3MTaR0

2. GRa+3R0

3, QRT+3MTaRTT

4, R+3TaROT

Correct Answer :-

. OR+3fTaRT



25) aftreTg # UhTd iR Ty 71 & 3R & IR faT d@ 3= Sirat 2 1 Uie & g o @l ikt &1 ek a9 ¥ 1 R IR B AwTs 3 o 81 59
TgiaRur W5 g ot 81 Wil & o 2w & = @it 3R 9Tl S} @Rt 7A1d €1 e F 37 wR- 31T B Tl A Ford §1 eT-eie) 3aft @ e s
TeTa 81 39 o e @ 741 81 81 3T § Snftd) wares) AT ad= F id usTan wirar 81 a6 W gl BT v ity iy wimar 81 T ¥ w9 § T4 v &1 amad
HTT SATT 8| 19 A9 STAPR SR I3dT ¢ dl SYH g8 ST & &1 Y F FIY IB=TelT §aHT TN 9T & HUR A SHSAT 2 3R IRY 3R R oifg & e ugar
%lwwaﬁsﬁ?sﬁﬁﬁﬂmﬁﬁmmﬁaﬁ?m@ﬁﬁﬁ% “GiTe ST 3 wTwaT gl @ % g 3w S A vie &1 Wi Wer o R #1

ITGE TR B TR A D Y U BT S@R TSI
W G & o Hego HaT iar 82

1.7

2. QR

3. &8I

4. fRd®

Correct Answer :-

26) dftreTg A Ui iR Ty |71 & 3R & IR fa=T a@ T-man wirat 3|1 UiTe & g o @l ikt &1 ik 9T ¥ R R 3 9weTs 3 ot 81 39
TgiaRur =3 g ot 1 Wl & 3 2w & = @it 3R 9Tl T} @Rt 7ATd §1 e F 37 wR- 3T B Sl F Foird §1 Te1-eie) 3aft @ e sue
g €1 3 &1 99 oo a1 ghar 21 Sife | 3ifidY wremey ¢ ad= A WiTer UhTar Srat 81 96 | gedl $1 gtur 9ty faan e 31 73 & w0 ° Th wud o aad
YHTT STT 8| 99 A19d STAPR SR I3dT ¢ ol SUH g8 ST & & 1 Y F FIY IB-Tell g1 NI 9T & HUR A SHSAT & 3R IRY 3R R oifg & e ugar
%lwmaﬁaﬁvgﬁaﬁg&ﬁﬁmm%’aﬁﬁﬁmﬁﬁaﬁ%‘Wml'ﬁmsﬁ?ﬁ%ﬁsq&aﬁ?a@ﬁmmmmmm%l

ITGER TR B TR N D Y U BT S@R TSI
E: G F Ugd 37 a1 19 W1 ieR wE §2

1. i &1

2. TTHIA PR T

3, gl &l

4, YRt &7

Correct Answer :-

o unf e

27) aftraArg ® UiTd @R Ny AR § 3RY & IR AT 9 9T St 81 vid & ugd foT ann uinft o1 gk w9 1 R R 5 9wTs B 9 @1 59
TgiaRur T3 g ot 81 Wil & o o @ = et 3R 9T T} Gt 79T €1 1ie $ 27 TR- 1T B Tkl @ Foird §1 Te1- 2] 9aft @R e Bue
Ted €1 39 &1 99 78 a1 ghar 81 ST | 3ifidY semey ¢ ad= & WiTTer UhTan Sirat 81 o | gedl &1 dier |ty faun @ 31 73 & w9 ® T wud o aad
UHTT STT 8| 9 A19d STAPR SR 33471 ¢ dl SqH g¢f ST &d & 1 Y P TIY IB-TelT §HT TS g1 & HUR | SHST § 3R IRY 3R R oifg & euw ugar
B 39 90y IR SR gy A Gt | AT Iod § SR T | fRrewma §- oiirer wimer 3% wRrwan gt § 5 g ok oifir A vivra a1 i "R w5 forn 21

I TR BT UGB -9 YD T U $T IiX gaTs |
W T iR § 1 T8 gl 82

1. 6 B gl BT et ST S S|

2. AT TET- 4T TR B 1

3. R B WIS el |

4, RS BT el & Foae A R

Correct Answer :-

« AT g TR g

28) dftraTg ® TiTTd @R Y A § 3Ry & IR Y b w-man wirar 81 viva & ugd foT @ uinft o1 g w9 1 R TR 3 9wTE B o 1 399
TaTaRYT TS g1 Wl 81 Wi & R < @) I @ 3R 9o aei) GRET A9 €1 Ure & 3 R-3iTTE Bl el | T §1 TeT-e) Wit | e $us
Ted €1 39 o1 99 ©© a1 ghat 81 3T ® 3fidY Sames ¢ ad= § WiTTe UehTaT WTaT § | 9o § gedl ST dier 9ty foan e ¥1 73 & 79 ® T wud & |
UHTT ST 8| W9 A0 STAPR SR I5d1 ¢ dl IqH g8 ST & & 1 g8 P TIY IB-TelT G341 TS g1 b SR A SHST & 3R IRY 3R R oifg # eus ugan
B 39 IOy TR SR 33 A RN | AT Iod § SR Ty A fRrewnd §- oirer wirear 3% wRrwar gt ® 5 g ok iy A vivrar 1 i ®ieR w5 foran 21

I TR T UgHR -4 [ 7T YA BT Sk ga1s¢l
WR: G @t AT el 82

1. PIABTA

2. AT

3. faeit

4. 3H



Correct Answer :-

29) aftraATg ® TiTd TR Ny AR § 3Ry & IR 3T 9 7= St 8 1 via $ ugd foT ann uinft o1 g w9 1 R R 3 9wTs B 9 @1 59
TaiaRur T3 g oirdaT 81 Wil ¥ o I o = et 3R 9T Tt} @Rt 79T €1 1ie $ 27 TR- 1T B Tl @ Foird §1 Te1- 2] 3aft @R e sue
Ted €1 39 &1 99 78 a1 ghar 81 ST ® 3ifidY semes ¢ o= A WiTTer UhTaT Sirat 81 a6 ® gedl &1 dier 9ty faan e 31 73 & 79 ® T wud o 9|
UHTT ATT 8| 9 A6 STAPR SR 33471 ¢ dl SqH g8 ST &d & 1 g & HIY IB-TelT §HT TS g1 & HUR | SHST § 3R IRY 3R R oifg & euw ugar
B 39 9Hg IR SR gy A Gt | AT Iod § SR Ty A fRrewma §- uirer i’ I wRrwan gkt 7 6 g ok o A wivra w1 i "R #% Rran @1
IUY TR B UGHR 1 IR MY YA FT IR I3

U=: I1q fSaH ghTan STt 82

1.ea

2. A HIH

3. R o
4,78

Correct Answer :-

« HHWH

30) 3o fpam 3MY, Io fram s,
a1ed fiv sme §
RPN A F

aqreft T 3 E

SR R TRIT &G
TRIG A, IWI@ A

T4 7@ ¢ SHS-gHS I

FTA STed dHF 3@ at

A uon & 1A Bt

TR A

Tg WM ABR TS

T AR, e grars

N g, spar A

fRrg, el & aamv ord

fpe & TR wTgH, T,
RE M E

IUYeR Ui B UG 1 IR o 978 U BT S aa15¢|
TH: ST feae & g w9 €2
1. T AT

2. faems

3. U

4. UHIT

Correct Answer :-

Topic:- General Sanskrit(L2GS)

1)



Yot afScar ITNATESCTT ey gl AT -

areTeidadYerdl aerdufaucad|

ST ARt ae¢ gradaFalt |
?:ngwé.r%gwslqul T AFFEA el

T AUMERGUSHTUSAT IT A TYTHAT|

T SEATIAIFHITBIATE: & FeT it
AT AT 9T TEGAT $97adlT o ASeTsamdeTi

Ul ST & RN ?

veltenl afScar ITfATESeTT ey gHccl I -

AR e E: AT |
TSIMH>STIS HIH: PIATchrEN AT |
shreTgald HaAlg: FFAGICEHIA A |
THERIC TR IEARN TorRIfd ||

GHIG: A Hafd ?



Correct Answer :-

4)

TR gfdcar yeaey %Aﬁagcdi gaad -

3TEATH GO IAE:, ARAASH ‘Teegrars sfUsar sfa wqfh: amfEr:
gfag: |

THITY 3T A HRAHA 59 UodedNl Eighd A 3T | alsy
HIEANIT FeATHANT Thocdd , Heold T I99dcd Flaedd: AT |
3T Seedi ffr samfeRre: fgarera: fEdl 3@ @ER @Y vday
& AT | 3T UF el II ‘Udadrer’ sfa ar SenfeRmer: sfa ar
A TRATCRAT TS9N, FHATAAG:, TogsE fdoear ST #ed:
vsdled| HRGET qd @ SUNRIR:UfREd  3REEPR:,  EEer 9
fergAee: fdedd | #RGET ol Redevl fdgaa | 30
ARAESHET Feald AlCTAUSH dad | 30 TseufdAgiedey daa esr
| 3TATR S A, 3T | 31T TT AREA:, AFS, HelcAT 94,5
Aeld:, fa%aecay:, ol:, UHAAGAIT: dlec: T ATl 34T G-
FogICcl-3TeMeh-fdeh AT e T -HH g -5 Y- 2R ToT-HalTH - 3Teha-TelTd-
fRIaTSI-TUTSafEgTeaT: HEled: eAMHHT: 37Ade |

3mefoteheplel 373d ANl Wdleg, g91saT:, FHIV:, STelagIqied Hgled: JouT:
ollded |

Ty 1 Al fgATeraTd & yerafa ?



5)
IR 9fdcar yeaEg ‘\gg@cdi Faad -

3REATh e 3G, HRAAYH feegrarer sfusar sfa uqhh: amafer:
giae: |

THIA 38T dTH ARAA $3d UodedNl Ediehd oATH 31T | gellsy
HIEHRI HodIPART Thecdd , HTOId T TTed Giaede: T |
T Soeaedl T aamfenre: AT REdl 3@ EER EdY gday
Iv5: HET | 3T TF e 3 udawer’ sfa ar Fenferrer: sfa ar
FeId| AT IS, IHATAAG:, Togs@N fATedr scauTfeahr: ey
UHdled| NG g H@ §OEE:,UR¥A IREEER:, g T
fergre@R: fdega | sRaET Towmr foedieR fdead |o3ma
ARSI Fegid AfCIAUSH dad | 31 TSculaHgieaET o= eiisra
| 3EATh e Al T | 31T Ud AR, AFSU, HAT §:, o
FEIAR:, fd¥deeldt:, ht:, TAAGAUT: Aleloq: T 30Tl 3Ad G-
o g d[Ccl-3TRlTeh-TAsh AT T -HH G- e RIST-HATA G- 37eh -5 elTY-
TRIaTS OIS ATHE TS dd: HElodl: ATHSI: 33T |

aTﬂﬁwﬁ 3G e, dieg, g9sal:, eIy, WATTEIgIRd Hpled: JIW:
Sollded |

FearpANT FHear fEfer fEerarfed 2



3.
, AaGeT

Correct Answer :-

 FAgIee

Yol TfScar HNfATESeTT Uty A’ Yadd -

areTeidadYerdl aeTdufaucad|

ST T gee gradraAEt |
m%nrar%gwslmqm T AHFEA el

T AUMEIGUSHTUSART AT A TYSTHAT|

T SEATYAIFHITBIATE: <o FeT it
AT AT U TEGAT $97adT o AoeTsamdeTil

FET g gadreit ?



9)

ul=ae gfdcar uesTey gagaj’cdi g -

STITEITe: ARISHIAR: HIAY quliciedr: (Juildear: ) de faggam
PIAfEATHD SFeAUG TaoleHaAl AT | T U Waseraa: Riaare:;,
AT o Rl 3R | SsTAEE: srcrRicdeatacardds hedie
Areadcal JAGAN Ferisaadl fdet gaagmesfowagd saaard
| F ST Usdglseld dal d&g far fRigaredagiaureid Srerers I1d: |
IREST T I s gaea sifasaaeqearedr qet |
dTeehed I Tdegmrgtt TRIdeT ded died a1 diedAe=id e’

T fEEAEAITTa RATA | 3eTUGHd T¥helATeid: T STt gidad
a¥f: gaTe] dare] darsaisr fAfaer: aqTqTaaTtmﬁvd | el = |aifor
MEATISCEIAA: FAN: SMEE FHII VPRI AR AT HoARTAE)
Al S | dSHYAT AT I TEITOT Aleddledd | AT &
ChEHTeG (e STcHT eI AT, Trdraedichivl ol faAfFd
ST FABTA AT TecddeadedaradisaAdl el T ooy
SIdN EAT-aTSe AHCTASIANHAIES | o ° ditidegrard =&
HERII A UG TEAT, VoA deda afad deledeedd |
MTAraraRIed Hivd HEAAIS e ufdsimereaar fafeAaed
ATETTIREAERT: ASHFEITARAAAT | 3TErede] U aAE=ey
HATdAET HEHET IRUTAATT |

AShL: 37 Sled UTcddlel -



el
4.

Correct Answer :-

10)

TRTSS IfScal TeaTEd YGHH JaId -

STICITe: AIMSHIAR: iy qulieiedr: (gofferear: ) de faczare
PIATCATHD FAUC TATeHAT AT | T U WAeerad: Riaare:,
AT T eFlieT ST | WsTATIE: SserRicgca@Tadds fhedre,
Areadctl JUEHAR eervsaal faut gdgaerasiafoTagd sasardid
| § T Usdelse]d, dal a8 far fRigaredagiaurerd Srerers I1d: |
IRTET T qcgiadile earsf g sfasgamqearedr aeat |
dTelehed I fdegmergtt foRided gied died a1 aieHeedd aca’

T EATNITId FRAA | 3HeJUCHT IIPeIATeAd: T FTIh! gfdid
a¥: HaTel dare] darsantel TAfaer: aqTqTammﬁvd | 3teficy @ garfor
RIMEATUITSC G ?ID’MHNl \J‘IdIIC\C\ J‘i’dl(‘LIBUIChIGN'dDPQIHICI’l?IQIUt *HG'QIH‘Id,ISUI
A Sl | dehYAT AT T TEIST Aleddedd | AT F
UehEHToTg o TTcHTA AhaTelcTH 3TTIeTI, HeTEEdIhUl 5Teh1G (d '@ci
ST, HATA, T TlecddeadedaradlsaAdl IETd, T ooy
SIdR IEATCTSIe AHCTAGIANFIES | o T Jitidearard =@
Hmﬁﬂ SRUTHI TEAT, T AHATITCT T8 afad defedaedd |
IMfdreraried ﬁhﬁ PIHEAGI] €T UiaeireFcar [aieaAaed

AETTTTRATNT: ASPEITARAAIT | ST IS g =1ed
ATTATT TEHET IRUTAT |

a8 ucry 9= U9 oafa -

| TET + 3T
2 T
, dEg+ T

T + T



Correct Answer :-

d&¥g + g

vollehl afScar srenfAfisera geaedr YgHc FIad -

11)

AT FAYeYd: S Iad |
ST hlA: AT s eI i
reTgald HFAlg: FFAGICE I Taoe: |
THfAsRIE TRERIT IEARNT TURITT |

HEATT HEH: AT ?

9allenl ufscar srenfAfésesy ueTey ﬂﬁﬂrdi A -

12)

AR I E: A5y |
TSMcHFARIT HIA: DA |
PIIgafd FFAlE: FFARICEAfaere: |
TRfdeIRNe, i g vorRafd |

gﬁc—rnar: 3T & GANT: ?



Correct Answer :-

Yoliehl gfSear sreifAidseey e YgHc] Faad -

Al [T a: AU |
TSH>ARIS HIA: HIATHITS AR ]
HrUTgald GFAIG: GFAGICEHIATAHH: |
THfAsRIC, RGN IGARNT JURITT ||

HSIT: &Y 3T ?







Ui=ae gfecdr UeaEd gsgagcdi qAaqd -

STICITE: ARISHIAR: HIAY Yulieiedr: (Juildear: ) de faegam
PIeAfEATHAR UG TaoleHaAl NI | T AT RWARART: RaaTe:,
AT T AT 3T | G TA™R: m&ﬁcgcdwbd%lddﬂ foredTee,

Areedcal JAEAN Ferisaadi felt gadgmersafoeagd saaaraid
| F IeT Ysagrdeiss]d dal aed fodr Riayedagiaumerd Hree ad: |
IRTEST I fadtleT Wearsii oo sfasgamgeardedr aeal |

dTelehed T Taegmergtt fRfde ured deg |1 afedseid acal

T TAEAEINITTI PRATA | 3eJIeHT JFDelATeid: T JTeiht gidaid
a¥: galed don darsentsr Rfaer: waanmﬁwmnﬁwaaaﬁﬁ‘r
AEATTSCEIA: FAR: SIITGG HITG ORI cAATR e, HoTHaIgor

AfS ddeeT | dachqan AT O dEd<al slleddead | 311 &

— *

UhEHreTE (el SMTcHT sAhIRIcTd, AT, Fordaedichivl sehiefaAfad
ST FABIA T ecdTerdedaTaATsTA T[ETd IEUT: Ty
SIdN TEAT-TSIe AHCAGIARAIS | o ° Jitidegrard =
Wﬁﬂ UG AT ATy aedd afad deedaedd |
IMTdeararied mﬁ HIAALITI daET Ufdsmerecar fafeAded
AETTTTEONT: ASHEITARAAIT | AT TRaus s g =1ed
FATTAET FEHET IRUTeAT |

31TEAT 98 HeTdcumen: Eeai Afd TN -



vellenl afScar renfAfiseea Teaed YGHc FIad -

aET gAYl aETIAfaTcad |
ST Al geo gradaAERt
AT PocorGdTRERUT el AT YHTTAcddl
o] o JNe | e |
T FOMaLGUSATUSAR T AT LATIHTHAT|
AT TEATY TASHIISTATH: G FeT Giotar|
AT AT U1 TEGA 97Tl 93Tt

ar AT ATUsaRT ?

. QNeTT

Correct Answer :-



TR<oe 9fdcar yeaed ‘\gﬁagcd{ gaad -

3TEATS e IATdC:, #ARAAYH fewqearer sfvsar sfa wagfel: amAfa:
gfae: |

T 36T ATH ARAA 3 UededNl E&ihd A 3T | gelsT
FIANI, HeATHANT Thodd , Heold T IF0ded Flaedd: Hed
3T 3cokEd R FamfeRren: fgATer: Al 3 HER HIY TdAy
avs: BT | 3T TT Fel: 3T UdIUe’ §fd ar SemfeRren: sfa ar
HIA| TGATCRAT IS, THATAAG:, ToqH0EN el FATEHT: AT
ysdfed| HRAET G o SOEEIR:9RgA  IREEER:, ST =
fergAR@nR: fdedd | $IRAET TSl foeelleR fdegad | 3@
ARAESHET Foold AlTIAvSH ada | 314 Tseufddgieaey sias esrd
| 3TEATH S Hplel 31T | 39 Ta ARA:, APvor:, HpleAT g4, fo:
HEMER:, fd%dcea:, qdl:, TAAGAIT: dldec: o 39Tl 34d G-
eI Ccl-3TRMTeh- T sh AT TG T -HHG I -5 Y- LA NIoT-HATH [Hg-3TeheX-HTd-
fRIGTSN-TUTSI 89 dT: HEled: eMTHST: 3Hd |

3MeIfeiehehTel 313d IMMeell, Tdleg, gaTsay:, JHIW:, TTINEIged Heled: JoUT:
Follded |

C O 3T 3 & ?

, qar
2.
T
3, =
3TYAT
4, 2



Correct Answer :-

20

D el A S e T aRege 3
Ad: Toadeded JEIT: HAT: AFTEd-

) CIEIENEEE RG]
_ $ITRUSUTETch

TGP R W sTEA TR T

3.

, FATOTHGETTUThaT

Correct Answer :-

. ATUTHGETYUTR T

2 gz gfeaar yeaea &gagagcdi gaad -

3TEATH e IE:, dARAAYH ‘eegrar sfusar sfa uqght: amafe:
gfas: |

TS 36T AMH ARAA 53d UsdedNl E&iehd oH 3Red | geilsy
HIEARI, FeAHANT Thedd , HTold T I399ded GlaEdd: HAed |
T 3ccRed fr amfarer: RRAter: sfEd) 3 dER @dy gday
o5 AET | 3T TG Fei: 3T Udadrer sfa ar Femfermer: sfa ar
FeAd| TGATATT TSI IHAT,AAG:, Tegellan fIdear s #e:
ystafed| oRaET qd  oET  §orEreiR: ufud  3REEeR:, gfE@or =
fergerER: fdedd | SIRGET TSl feeeileil fdgad | 3m3@
ARAESHET Foold AleTAVSH ddd | 3139 TseufdAgeaEsT dda st
| 3TEAT G Al 31 | 31 g SR, SﬁTfGUT:, HGTcHT EIOTQ‘.':,%IFF:
AEIA:, fd%dcelay: ok, UAAGAUT: deleq: T 3e7del| 34T G-
g aIo-3eNeh-TdshAT G- HHGI -6 Y- 2 RToT-HATH G- 37eha-STclTd -
TRIGTST OIS AT e T HElodl: ATHRT: AT |

IMefAeheprel 37139 Ml Tdleg, 6oTSaT:, oAV, ATCIEGIEIeT Hgled: JET:
alded |

* ZoTHTRd: * 3T & HATH: ?
§ FHIRY:



23) . .
IRTde 9fdcar UeaAEd Y&GHR FIAId -

3TEATH e 3G, ARAANH ‘Teegrare sfUsar sfa wqhh: amfE:
gfas: |

THIfd 38T A HRAA 59 Uodedll T A 3ed | qelsy
HIRANI HATHANT Tdocdd , Heold T I0ded Flaed: T |
3T 3corEd G FnfeRren: fgArer: A 3 @ER E@dY gddy
aes: T | 3T TF el T Udder’ Sfd ar oJenmfeRren: sfa ar
HeI| AT IS, IHATAAG:, ToasEN el ScATeHT: AT
TsTaled| RAET Td e SIEeTR:, URgH  3REEER:, gfEr o
BrgreraR: fdegd | #RAE ToueEl fAeclior fagad | 3ndd
HRAESHET Feald AfCTAUSE add | 30id TSeufddAgieasT g« eerd
| 3TTATH G HEl A | 31 U9 AR, %GUT:, HGIcAT g@':,ﬁﬂ':
AeIdR:, fa¥dce@y:, dhl:, THAAGAIT: cAldee: T 3MeITe| 349 G-
TegaICel-3Telleh- faeh AT i T - HH -5 Y- 2 NIoT-HaTH HE- 31eh e -STciTd-
TRIaTSI-TUTSafEes{dd: FAgled: AMHHT: 3T |

ITfcTehebTel 373d Meel Tdlog, garsax:, HeN:, ATelagIgNed Helod: JoNT:
Halldoed |

TINTERTST: oATH &: ?

3.
. gad:

Correct Answer :-

E



24) .
eellanl gfocar sreanfafesesy ueaeg TEHCN I -

arETAiaaHYedl aEriufaucad |

ST [Ua ge¢ gradaaRalt i
m?rarqodowslwqm ar &gﬂﬁ?——alTﬁraaT

T SOTAIGUSATOSART IT AAUITHAT

T SEATI TSRS ATE: <& el gierr|
AT AT UTd TIEAT $Tacl foF: AeeTrsamagT||

a‘ﬁq@m—cﬁ?



Ui=ae gfecdr UeaEd gsgagcdi qAaqd -

STICITE: ARISHIAR: HIAY Yulieiedr: (Juildear: ) de faegam
PIeAfEATHAR UG TaoleHaAl NI | T AT RWARART: RaaTe:,
AT T AT 3T | G TA™R: m&ﬁcgcdwbd%lddﬂ foredTee,

Areedcal JAEAN Ferisaadi felt gadgmersafoeagd saaaraid
| F IeT Ysagrdeiss]d dal aed fodr Riayedagiaumerd Hree ad: |
IRTEST I fadtleT Wearsii oo sfasgamgeardedr aeal |

dTelehed T Taegmergtt fRfde ured deg |1 afedseid acal

T TAEAEINITTI PRATA | 3eJIeHT JFDelATeid: T JTeiht gidaid
a¥: galed don darsentsr Rfaer: aqTﬂTaaT&mﬁvd | 3refica @ @aTfor
AEATTSCEIA: FAR: SIITGG HITG ORI cAATR e, HoTHaIgor
Al Sy | deHYAT AT I TEITOT Aleddedd | AT &
UehEHeoTg T HICHTA FhafRIcd AL, HoARTEAIhIUT wAohle aaierd
ST FABIA T ecdTerdedaTaATsTA T[ETd IEUT: Ty
SIdN TEAT-TSIe AHCAGIARAIS | o ° Jitidegrard =
Wﬁﬂ UG AT ATy aedd afad deedaedd |
IMTdeararied mﬁ HIAALITI daET Ufdsmerecar fafeAded
AETTTTEONT: ASHEITARAAIT | AT TRaus s g =1ed
FATTAET FGATT IRUTATT |

ASHIET IETH 3T -

Correct Answer :-

MfdegereTacarer:



Yol afScar eNfAfisery geaed YGH FIId -

eI VAT TSI |
SIS HH: FHAThTsTATRT |l
hITgaid FFAG: FAGICEAATase: |
TRfqsiene IigeTRN JigATId Foreafd |

HEATT TUTRITd ?
EARGINIG

1.

_ TacmEred
EIEGINIGE

3. 2 =

| Sfaarng

Correct Answer :-

-GN

9allhl ufscar srenfAfésesy ueTEg ‘gagagcdi AT -

28)

arETATfaaagedl aerufdTedd|
SO gec gradiaAall
AT FocrdYRERUT T AT AIGTAed dl

o] o o | 2
T SOMAIGUSHATTSAGNT AT ATITHAT|
T SEATG AT TATE: <3 Fel gt
AT AT U TEGAT 979l I ameT i

feheAe] TrdciiaTARgat el 2

Ccr o)
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2.
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AR FIGIE]
4,
Correct Answer :-

 ASCTATART

. JRdcA:
Correct Answer :-

_ 3RdcA:



Ui=ae gfecdr UeaEd gsgagcdi qAaqd -

STICITE: ARISHIAR: HIAY Yulieiedr: (Juildear: ) de faegam
PIeAfEATHAR UG TaoleHaAl NI | T AT RWARART: RaaTe:,
AT T AT 3T | G TA™R: m&ﬁcgcdwbd%lddﬂ foredTee,

Areedcal JAEAN Ferisaadi felt gadgmersafoeagd saaaraid
| F IeT Ysagrdeiss]d dal aed fodr Riayedagiaumerd Hree ad: |
IRTEST I fadtleT Wearsii oo sfasgamgeardedr aeal |

dTelehed T Taegmergtt fRfde ured deg |1 afedseid acal

T TAEAEINITTI PRATA | 3eJIeHT JFDelATeid: T JTeiht gidaid
a¥: galed don darsentsr Rfaer: aqTﬂTaaT&mﬁvd | 3refica @ @aTfor
AEATTSCEIA: FAR: SIITGG HITG ORI cAATR e, HoTHaIgor
Al Sy | deHYAT AT I TEITOT Aleddedd | AT &
UehEHeoTg T HICHTA FhafRIcd AL, HoARTEAIhIUT wAohle aaierd
ST FABIA T ecdTerdedaTaATsTA T[ETd IEUT: Ty
SIdN TEAT-TSIe AHCAGIARAIS | o ° Jitidegrard =
Wﬁﬂ UG AT ATy aedd afad deedaedd |
IMTdeararied mﬁ HIAALITI daET Ufdsmerecar fafeAded
AETTTTEONT: ASHEITARAAIT | AT TRaus s g =1ed
FATTAET FGATT IRUTATT |

3T EHATETY ASHET 3TdN: 37Had -

Topic:- Social Science (SSC)

1) Who were contemporaries of Kanishka? / ®fp & JH®TT B A2



1. Asvaghosha, Kamban, Nagarjuna / 3{ YO, e, :|'|"'I'IT{FT
2. Asvaghosha, Nagarjuna, Vasumitra / 3{ ey, :ﬂ"TIT{i:L a’@&ﬁ
3. Asvaghosha, Kalidasa, Nagarjuna / 3{ %m‘rq R Wm, W
4, Kamban, Banabhatta, Asvaghosha / e, dMHYHE, Sf’a"c'-h'q

Correct Answer :-

o Asvaghosha, Nagarjuna, Vasumitra / 3f m R W, EH&H

2) Which neighboring country of India was referred to as ‘Serendib” by the Arabs? / HRd & frd USRI 39 P 3RE! gRT ' WfT F =0 & Hehia
foran ur?

1. Nepal / B

2. Pakistan /WWFT
3. Myanmar / ®”ITHR
4, Sri Lanka / PicEal

Correct Answer :-

« Srilanka / #ftdr

3) Evaluation that is used to monitor the learning progress of students during the period of instruction is called as: / 98 W, Eli ﬁ%ﬂ i

3afl & R Bl F1 AT ufehar 1 AR B3 & g sxawTa faan siman 3, et weara 3
1. Summative evaluation / @IWW

2. Diagnostic evaluation / BEIEEY Hedfe

3. Placement evaluation / FSH PRI

4. Formative evaluation / FAfOTaTa HAip

Correct Answer :-

« Formative evaluation / OIS W

4) What%do you mean by BOD (Biochemical Oxygen Demand)? / d1.31.3t (Sibfiea iRl fSuis) @ smusr «r
T 82

1. Oxygen demand by aquatic plants / STt arelf gRI SfiqieT & AR

2. Oxygen demand by aquatic animals / SRS tl"\ﬂ\?ﬁ R SRS &t Al
3. Industrial demand for oxygen / SHiRAoH & ﬁ']’Q N AT

4, Water pollution by organic waste / Sfaw SufIy gRT o/d Ueyur

Correct Answer :-

« Water pollution by organic waste / Sifdd 3UIY §RT STeT UGHUT

5) defined, ‘Social Sciences as those bodies of learning and study which recognize the simultaneous and mutual action of physical

and no-physical stimuli which produce social relation’. / A uuifa far o, wmfore fasm, sifrm 3R gy & 9
el & wu A @ o IR 3R e SawTel & urRwuR® fhar &1 Wigd #va & 3R I ey s g 1°

1. James High / Sd 8T8

2. Macaulay / ApTd

3. John Major / S AR

4. Bining & Bining /o Q_S'ﬁﬁ"'[
Correct Answer :-

« James High /@WET&C

6) The research that is based on observed and measured phenomena and derives knowledge from actual experience rather than theory or belief is
known as: /



Qﬁuﬁﬁmaﬁ%aﬁwﬁmmaﬁwanmazﬂm%aﬁ?hmmm%mmﬁwaﬁwmmmmi
Pedldi gl

1. Empirical research / 3‘|T§'1-Ifa$ 3N

2. Survey research / gderor 3w

3. Deductive research / ATARTE S{AH0T

4. Quasi-experimental research / SIS AV

Correct Answer :-

o Empirical research / 3ﬂ§1®37_ 30T

7) According to Seligman, ‘Ethics and Education’ are included in: / AR & SR Afdpar iR fQT&‘IT' E'Hﬁ UIE ) sﬁ %
1. Semi social science / 3¢ AT fagm

2. Social studies / FTHTSTD LI

3. Pure social science / [ TS ﬁ?ﬂ"f

4. Science with social implication / RIEISED ﬁ%mafam ]%3‘11:[

Correct Answer :-

« Semi social science / 318 AT faFT

8) Which one is not a Nataka (Play)? / % % &9 & A1e® (@) 781 82
1. Pratigya Yaugandharayanam by Bhasa / HT_ gRT ufasm &P’F’HTFCIUIT[

2. Saptasati by Hala / 8Tcl gRT Tt

3. Uttara Ramacharita by Bhavabhuti / Ha4fd gRT SR IHARd

4, Mricchakatika by Sudraka / & gRI Je@dHicd!

Correct Answer :-

« Saptasati by Hala / 8T §RT 9wt

9) What is the standard sea level pressure in millibars? / AT Wﬁﬁ IR BT qld At A < 3-1?11 %?
1. 1000 millibars /1000 fHfeIR

2. 1100 millibars /1100 fHfeTER

3.1013.25 millibars /1013.25 fAfER

4. 1025.00 millibars /1025.00 FfIER

Correct Answer :-

« 1013.25 millibars /1013.25 fHfeER

10) When was the National Human Rights Commission constituted? / ?Téhl' UHAIRIGR I HT TS H fHar 141 412
1. 1992

2. 1995

3. 1996

4. 1993

Correct Answer :-

« 1993

11) Why should social science be a part of a core curriculum? / R IISED ﬁTI'F{ 3l UDh BT UTSThH BT %T\"'IT =\ 'EﬁT'“ ?IT%T{?
1. Helps to develop critical thinking / T8 el ! A RId & H Heg draT g
2. It deals with human behavior / g HI-d AdgRR T gafdd % |



3. To develop awareness of the world / fay @t SrRedwar & fawRig w31 & faw)
4. To develop the country / T I fawd o= & fory

Correct Answer :-

« Helps to develop critical thinking / TTg- I &) fawRid e & Aeg sl gl

12) ‘General Ticket System’ is another name for ./ ‘SI-Rd fewe gl _ hIgEIAN %I
1. Multi-Member Constituency / §g-Hq& fyafem &=

2. Triple-Member Constituency / -Ta®d fates 9o

3. Double-Member Constituency / fe-gew fafem &

4. Single-Member Constituency / Thd-Ha& ot &=

Correct Answer :-

+ Multi-Member Constituency / 9g-Hq¥ fyate &=

13) Discussion method is also known as: / qﬁ?ﬁﬁ q@ﬁf 3l ENGIE) # oft ST ST %:
1. Project method / RS Tgfd

2. Holistic method / qpf?nam Tgid

3. Socratic method / W?ﬁ ygfd

4. Activity method / ERIETIR AR

Correct Answer :-

« Socratic method / W‘I?ﬁ ugfd

14) Observation of one’s own behavior by looking within is ./ Tt safaa & g1 vad & fiaR gl‘iw U & IAER PT
FERICE] FEaEIgl

1. survey / gdefor

2. experimentation / T
3. introspection / SRITAD
4, rating / JedTh

Correct Answer :-

« introspection / SRIGdAHT

15) Who among the following is associated with the perspective of “Education as Social Transformation”? / fFrafafea & @ w19 g

Rada & wu # g sw R A difa 32
1. Mahatma Gandhi / HeTH] ief

2. Dr. Radhakrishnan / ST. RTYTH T

3. Jacques Rousseau / STFPpUY !

4. Paulo Freire /UTGFﬁ aﬁ%

Correct Answer :-

« Paulo Freire /U G(_*i aﬁ%

16) Who among the following issued the founding charter of the English East India Company? / Frafafaa o @ e E'%NT é?? i:%m
HUH BT HRITUS AER IRY far?

1. Elizabeth I / TRAISTEY 1

2. James I / ST 11
3, James I / SR

4. Charles 1/ TG 1



Correct Answer :-

« Elizabeth I/ TRTSEY 1

17) Who was the Sultan of Delhi at the time of establishment of Vijayanagra empire? / fasrTTR TSy B RITIET % 99y fewdt @1
e DI UT?

1. Balban / §[¢Tel-

2. Qurtub ud din Aibak / FUE-3&-SH TIH

3. Razia Sultan / IS/ Hedlq

4. Mohammad bin Tughlaq / Tigre fad UNES
Correct Answer :-

« Mohammad bin Tughlaq / ogwe fod UNES

18) Who was the first President of the Indian National Congress? / YRA™ ?T@'U PR S YYH 3ehe B A?
1. Womesh Chandra Bonnerjee / AR T §oI

2. Badruddin Tyabji / §G%% I daeoil

3. Bipin Chandra Pal / [EICEEFRIR

4, Lala Lajpat Rai / eIl <ToTUd XTI

Correct Answer :-

« Womesh Chandra Bonnerjee / AR I Fol

19) Who remarked that ‘our secondary education remains the weakest link in our educational machinery and needs urgent reform.’? | feae

ool #1 i gar Areafire Rign, s e w=i=H F Tad TSR 1 2 3R 3T TP GUR B aRgdbar gl
1. Dr. Rajendra Prasad / S1.X01& U¥ITG
2. Dr. S. Radhakrishnan / ST. TY. MUTH W

3. Dr. Ambedkar / 3. ?’IT@:":W

4. Maulana Abul Kalam Azad / BT 3gd AT SHTlTE

Correct Answer :-

« Dr. S. Radhakrishnan / 1. 9. RMYTHUT

20) Inquiry-based Learning is based on which philosophy of education? / AT STYTRE 3fenT, fren & fre gz w surfa %?
1. Realism / FUTdaTg

2. Idealism / 3TGRfaTE

3. Existentialism / 3&IcQarg

4. Naturalism /m

Correct Answer :-

« Naturalism / Wﬁﬁﬂ?{

21) India signed a 20 — year ‘Treaty of Peace and Friendship’ in 1971 with L YREA 1971 | P 1Y 20 U <zrifa 3R
ferzrar Sftr oR gvaner fan

1. Sri Lanka / 4t &eT

2. Bangladesh / SR

3. Soviet Union / Tifqdd T9
4.US/ 3MR®I

Correct Answer :-



« Soviet Union / Tifddd ¥9

22) is a body of the United Nations composed of all member states. / g MY BITH 33’7? % Y it e et | fAftfa
ol

1. Security Council / gR&T URYG

2. Economic and Social Council / Gﬂ% Qaw W
3. Trusteeship Council / et UG

4. General Assembly / HGIHHT

Correct Answer :-

o General Assembly / HGTHHT

23) The benefits of Green Revolution in India were limited only to ./ YR ¥ gfva wifa & a1y Haa _d® Aftra A
1. Wheat and rice / ﬁ'g* 3R Tad

2. Barley and jowar / S 3R SaR

3. Barley and cereals / S 3R 3T

4, Rice and barley / ITad 3R S

Correct Answer :-

« Wheat and rice / ﬁﬁ 3R Frad

24) The head of a guild in ancient and early medieval India was called ./ UTHE 3R unﬁwwmgrﬂ'—r Wﬁ@'\‘l’ﬂ% u’ﬁlﬂaﬁ
el SITdl UT|

1. Adhikari / SRISRY
2. Adhipati / 31ferafd
3. Gahapati / TIB'CI'%
4. Jethaka / ST

Correct Answer :-

« Jethaka / SId®

25) The study of fossils as a way of getting information about the history of life on earth and structure of rocks is known as: /qu'fru? St

¥ gfaerr 3R ggl F T & favg & SFer e He 31 v At & w0 A el &1 siergH 98 searan @:
1. Ecology / S@Iarait

2. Geography / SR}

3. Paleontology / OferaTeTairon

4. Geology / forataiion

Correct Answer :-

« Paleontology / PINEIEEEIS)

26) The thickness of the Troposphere is maximum at the Equator during which of the following seasons? / Q{HWW W

&YIUsd GURWRR) $t Wit e 8§ J e daa & 9a sifte gt 32
1. Winter / 2fdeTen

2. Spring / 99d

3. Summer / UTSHeTE

4. Autumn / [RE Fq

Correct Answer :-

« Summer / FSHBTAA



27) The value of final goods and services produced in an economy in a year is known as WAL Ty ¥ fopsdt srdfouawyt ® Iarfeq
Sifow axgail 3k Farsit & geu &1 FFUH JAET AT B

1. Per Capital Income /ufd q\\_rﬁ S

2. Gross Domestic Product / H&hd B¢ SMIG
3. Gross National Income / G ¢l TI@H S
4. Gross National Product / ¢l QT@'&[ 3dlq

Correct Answer :-

 Gross Domestic Product / WWG‘(‘J’I’({

28) Objective-based teaching is suggested by: / G%'W-Sﬂ oTie Rreror E';Ta? GRT F=AT™T AT &
1. C. Norman /;ﬁ. =|T'Ff=r

2.D.W. Allen / 81, &9, TaH

3. Benjamin S. Bloom / SR Y. scfH

4, David Crowder / S48 ®YsR

Correct Answer :-

« Benjamin S. Bloom / SR T XTH

29) Which one of the following is a disadvantage of Inquiry-based Learning? / fFrafafaa & @ $19 sAvur-snuRa e &1 D oy B
1. Promotes a deeper understanding of content / it &Y TI'ERTQC I Hﬂ%ﬁ & m PIEGERGII % |

2. Involves a lot of preparation and planning time / Jg dgd IR IR 3R FoT JHT S BT %I

3. Builds initiative and self-direction / g <l 3R 3TH-FETM BT MYR Waa %l

4. Warms up the brain for learning / T & fore AfeTss &) Sfed Frar 8|

Correct Answer :-

« Involves a lot of preparation and planning time / I8 dgd I AR SR I IHY XM BT %I

30) Which Finance Minister of India initiated the New Economic Policy (NEP)? / HRd CACRACEREIE 7-['5; 3nfife ifa (Q‘T&"‘ﬁ) Cd|
AT DI?

1. Morarji Desai /mm

2. Manmohan Singh / m_ta':f ﬁr&'

3. CD Deshmukh / Tt m

4, TT Krishnamachari /mm

Correct Answer :-

« Manmohan Singh / W_El:f ﬁl’e’

31) Which plan discussed in detail the food security in India? / HRd @ & % fore fr e R fawaR @ el Eg?
1. Fifth plan / Gl GreT

2. Eighth plan / 3Tadl GiorHT

3. Sixth plan / S Ao

4. Ninth plan | A AT

Correct Answer :-

« Ninth plan/ rdt o

32) Which Article of the Constitution of India empowers a citizen the right to move to the Supreme Court to enforce Fundamental Rights? /

YRA & TR HT P AT w56 TP MRS &) M fier) &) yafda w7 & fore watw =maraa & M &1 if¥ieR Tar 82



1.37
2.39
3.35
4,32

Correct Answer :-

. 32

33) Which Article of the Indian Constitution provides for an independent Election Commission? / WRTYd T BT P14 T TG TH
e gATd STANT YET Rl 82

1.323
2.327
3.324
4,325

Correct Answer :-

. 324

34) Which of the following is not applicable to Micro Teaching? Fafafaad ﬁqﬁ&ﬂ Rrefor maﬁ'ﬂ) Lk Fﬂ"lqﬁ%"
1. Immediate feedback is not gained. / dch el qﬁﬂg@ YT Qﬁﬁ?ﬂ % |

2. Duration of instruction is limited from five to ten minutes. / ﬁi‘szT Al Glaﬁl, g @ < e 9o difia Eﬁ?ﬁ %l

3. The size of the learning group is small. / WW Eal W@ﬁaaﬁ%l

4. Teaching is carried out under controlled conditions. / fQT&‘I'UT R g ufvfeufaat & fasar simar %I

Correct Answer :-

« Immediate feedback is not gained. / dch el qﬁﬂg@ U :@Ta?ﬂ % |

35) Which of the following dynasties had the longest rule? /ﬁﬂflﬁl’@?l’ T QA f5a IS BT ARASTA T T >1?
1. The Pratiharas / Q'I%l%'l?

2. The Palas / UT¢l

3. The Senas / T

4. The Rashtrakutas / JFHT

Correct Answer :-

o The Palas / UTdd

36) Which among the following Viceroys was associated with the Ilbert Bill Controversy? / fFrafafEa # @ $19 a1 TR Eﬁﬁé ICS
farare A et UM

1. Lord Ripon/ qrs Rua

2. Lord Lytton / TS fered

3. Lord Curzon /@8 ol
4, Lord Hardinge / E%ET%Z’T

Correct Answer :-

o Lord Ripon/?ﬁéﬁfq:f

37) Which among the following is a major obstacle to economic development in India? / Frafafaa 7 9 w1 yrRa § snfife e & "%I'Q'
T WA 94T 32

1. Low productivity / 19 SdTG
2. Low level unemployment / g TR B R



3. High literacy rate / 3= HI&RdI aX
4. Increased GDP rate / b dl WW Y i

Correct Answer :-

« Low productivity / ¥ SdTae®ar

38) Which among the following is a commercial bank? / fafafeada o= Uh aiforifsu® 9 %?
1. State Bank of India / HRd1I ¥< S

2. Regional Rural Bank / &%ﬁu‘;mfrméw

3. Reserve Bank of India / HRd foid S

4, Cooperative Bank / m a?h_

Correct Answer :-

« State Bank of India / HRdIg &< §b

39) Which among the following Mughal emperors prohibited the use of tobacco? / fafafaada fea HITT YT G| GESIEY & ITERT BI
ufsifera fasar ur?

1. Jahangir / \_J‘IE'ITﬁT

2. Babur / §T&R

3. Shahjahan / RITEST8T
4, Akbar / 3[hR

Correct Answer :-

. Jahangir/\_ﬂé" X

40) An effective teacher tries to make the class room environment more Ay YHTAY ﬁT&ITF, DEIT & qIATaRT B Gﬁ?' 3iferes
AT 81

1. democratic / B ATAD

2. autocratic /ﬁ?'@_-‘ZT

3. strict and rigid / 9% AR PR
4. anarchic / 3{RTSldh

Correct Answer :-

« democratic / APpdIHD

41) The silver coin introduced by Sher Shah and continued by the Mughals was : /m SRT yaferd fovar man @?w ERT ST 3@ /™1
Tid BT RyapT Ut

1. Rupaya / ®Udl
2. Asharfi / 3/=TBT
3. Muhar / Ih??
4, Dinar / @HR

Correct Answer :-

« Rupaya / >Udl

42) Many of the social problems in modern India could be due to the neglect of: / 3TYfAF URT T T3 TTHIIG THETSA
BT R 7 Ft 30T &) TSl 8:

1. Higher Education / &R e
2. English education / 3oft e
3. Value education / 3TGYI fR1&f



4, Technical education / T&-1] TRT&T

Correct Answer :-

« Value education / 3TG¥] fref

43) Who has the power to recommend the dismissal of the State Government and suspension or dissolution of State Assembly? / I XD

B @Rt 3R I fAu=aHT & fAciad a1 fage 3 Rieiver o3 ot fed foas tm 22
1. Prime Minister / UHTTHAT
2. Parliament / 99

3. Governor / 4T
4. Cabinet / e

Correct Answer :-

« Governor / ISYUTeT

44) Who is considered the father of Green Revolution at the world level? / fd%d TR W Eﬁﬂ wifd & o A AT STl %?
1. Thomas Malthus / 4THE AT

2. Norman Borlaug / e SRanT

3. Cecil Salmon / TS YeTH

4, William S. Gaud / faferem wg. s

Correct Answer :-

« Norman Borlaug / e SRan

45) Which of the following reason is responsible for highest percentage female migration in India? / Wﬁm TaTa 3t SEdH

wfer=raen ¥ fore FrafafEa & @ w19 w1 sRor IwRer! 82
1. Stability / FRR@T

2. Employment / SR

3. Marriage / f9aT8

4. Education / f2ref

Correct Answer :-

« Marriage / ﬁ?ﬂ‘s

46) The “Helmand Province” of Afghanistan is famous for cultivating which of the following? / e da frastiadi & o

BRI BT G Wi Ui 82
1. Opium / 3B

2. Wheat/ﬁg

3. Cotton / PUTH

4. Tobacco / T

Correct Answer :-

« Opium / 3B

47) Lal Bahadur Shastri's Samadbhi is also known as: / TIT¢l d8TgY TR B AT BY SR ¥ ot ST SIrar %:
1. Shakti Sthal / et FUA

2. Shanti Van / Ricia

3. Chaitrabhoomi / ﬁlﬂ‘-ﬂzl'f\

4. Vijay Ghat / faorg gre



Correct Answer :-

« Vijay Ghat / fdsrg 1@

48) Every year the government announces the prices of agricultural goods as a backing for farmers’ produce is known as ./ S i

WER P F I F T F FUA PR IUE & Fual A avonwA e, /Y werwm@rs|
1. Limit price / IfAd g4

2. Base price / 3TUR G

3. Exchange price / AT @@

4. Support price / T T

Correct Answer :-

« Support price / s qI

49) How many countries of Southern Africa make the Southern African Customs Union (SACU)? /ml'ﬂﬁ 3BIdT & fhda %&Tﬁw
Zfeoft et < 3o W (sAcv) BT fAmfor #ed 82

1.3
2.5
3.4

4.6

Correct Answer :-

50) One species of Coffee called Coffea charrieriana is free of Caffeine. In which of the following countries Coffea charrieriana is grown? /

HIO! P T Tl R ST Fg1 1a1 ], FEH A gad 1 71 e A 3 5w 33 & srorafar g o 82
1. Vietnam / oo

2. Yemen / T

3. Cameroon / HHEA

4. Liberia / ATgsRa

Correct Answer :-

« Cameroon / FHRE

51) CANCELLED

SEBI stands for WAL (SEBI) &1 ﬁm U 2l

1. Securities Exchange Board of India / ﬁmﬂﬁé‘r@r QER-T%GT S 3 S%QT

2. Securities and Safeties Exchange Board of India / WQ@W Qﬂﬂa\—ﬂ S 3 Q%W
3. Securities and Stocks Exchange Board of India / R s wid Qﬂ'\‘lﬁ\_ﬂ TS 3 E%W

4. Stock Exchange Board of India / R Qaﬂ%ﬁf S 3TH 3'%'5“

Correct Answer :-

« Securities Exchange Board of India / R TR S 3 gfear

52) A variety of pedagogies that involve students in discovery or research and employ approaches of learning is called
. / ot R & Rraorzme st STl B [P TS a1 3y # giRferd sl 8, ok it & =fyeiur &1 fFaifea

AT FgaE gl

1. Problem based learning / THET STUTRG SHFRTH

2. Learning from observation / X CRICE| GRT HfRTH

3. Inquiry based learning / 30T TR A



4. Pedagogy of learning / 3{TERTH T fRI&UTRIA

Correct Answer :-

« Pedagogy of learning / 3fRTH T RI&URIA

53) Barak valley in Assam is famous for which among the following? / Frafafea 3 S srm 3t e urdl fvas 1%1: s %?
1. Bamboo Industry / T 3R

2. Petroleum Production / a@ﬁﬂﬂ Jdiad

3. Cottage Industries / W CEIN

4. Tea Cultivation / I Bt Wcll

Correct Answer :-

+ Tea Cultivation / ITF &1 @il

54) Which Unit/Scale is used to measure the ‘thicknesses of Stratospheric Ozone layer’? / ‘m 3 maﬁnﬁa@’r’ B AT &
fore fpw so1S/AuT &1 IuET foba wirar 32

1. Melson units / TG EWETI:[J

2. Beaufort Scale /5{55-11; YT

3. Dobson units / SITTT WIETIT
4. Sieverts / Fac

Correct Answer :-

« Dobson units / SIS S’EETQTI:[J

55) Quit India Movement was launched in the year_ ./ HRd Eﬁ?ﬁ Jigra ad - | = foa T
1. 1945

2. 1942

3. 1930

4. 1919

Correct Answer :-

. 1942

56) What is the approximate interval between spring tide and neap tides? / &< SAIR-HICT MR agm-‘ma%d’ﬁr Gla'q'lﬁ?l' ST R

4

1.30 days/30fa"_‘f
2.1day/ 1 fea
3.7 days /7 f&
4. 15 days / 15 f&

Correct Answer :-

. 7days/ 7T

57) The Lion capital at Sarnath belonged to which one of the following kings? / IIR-TY @1 Rig et Fafafead @ fea e
wafera o8t

1. Vikramaditya / [EERIES]
2. Kanishka / ®sh

3. Ashoka / 3R

4. Ghatotkacha / TCIhd



Correct Answer :-

« Ashoka / 3[RN&

58) In which layer of the atmosphere is Ozone gas concentrated? / AIgHS Tt f5a wa | e T Hia g2
1. Asthenosphere / Q@W

2. Stratosphere / GHATTHS A

3. Tonosphere / 3TATHS A

4, Exosphere / STRIHS S

Correct Answer :-

« Stratosphere / SHATTHS A

59) Chalcolithic Age is also known as: / EIGCIINIDED T | EGESE] H oft ST STar %z
1. Neolithic Age / [BRINIREY g

2. Copper Age / dI¥ Tl

3. Stone Age / UTSTUT T

4. Tron Age /?ﬁ’s’ﬂ"’f

Correct Answer :-

« Copper Age / dIF g

60) During the reign of which of the following Mughal rulers, did Ahmad Shah Abdali invade India for the first time? fFafafadd
fra® IRFETA W QA S A TS 3Tl A Ugelt IR URd UR SATshHoT faar 412

1. Jahandar Shah / GIE'IT‘[IT IR
2. Shah Alam I/ RTg AHIH 11
3. Bahadur Shah / §8IgR RI8
4, Ahmad Shah / 3gHq XITg

Correct Answer :-

o Shah Alam I1/ RITg ATAH 11



